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= 8,687,018
= 606,525
Al 2,425,133
HEFse A 11,718,676 5,456,731 6,261,945
= 8,667,018
= 606,525
Al 2,425,133
DBz otE8 e 2EX R 77,170 282,200 A205,030
101 el H] 1,520 1,400 120
04 JIZtHIZ22EE > 1,520 1,400 120
OsgHHE AZYH 22
8,000& * 4% * 10ha 13 1,520
201 LetEHH| 2,450 3,500 21,050
01 AtR22/Hl 2,450 3,500 A 1,050
OZ&2SBEEHEM EALA 221 5,0003 » 502 250
OYsAe 222 R0 302 * 20,00004 600
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SN SIlEHEH
HE: MEYs ABMY(SEHYAL/5Y - 5E)
ool AEYsY A (Sl &2)
_ - HEC =
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
SEEEEEETEED
100,008 * 2% * 5% 1,000
OTBHT BN STt ZALM SO 3021 * 20,0004 600
206 T2 15,600 17,000 A1,400
NRE 15,600 17,000 A1,400
OTHBHCHEI Ol 23
3,008 * 3004 * 10ha 9,000
OSELESI) HAET 2,008 + 3000k 600
OSLYHE 4H2Y 50,0008 * 80ha 4,000
OREASMS BHI MAIG S42IS E2H
NE RIZ 500,008 * 43| 2,000
301 LPBAI 8,600 6,300 2,300
10 BAAHIRAS 5,600 6,300 ATO0
ONEF ISI=DS OiYI 24
70,0002 * 202 * 13l 1,400
OMFAS HMAIIEDS L HHSI &I} ol
A 70,0002 * 402 * 13l 2,800
OABASAZS BH H0ISAO 0iH S
70,0002 * 202 * 13l 1,400
12 JIEHE N3 3,000 0 3,000
ORBYSAZ BY3| HAIS, US| HASE
24 500,000 * 63l 3,000
307 Q1201 25,000 5,000 20,000
VEIEPNEES 25,000 5,000 20,000
OBHIEY UGN FTLAY ALLYX &
25,000,0002 * 13 25,000
402 DIZHRHROIH 24,000 199,000 A175,000
01 DIZXEEE 24,000 199,000 A175,000
OZESIHPI| SLST AAIY 12,000
—ze4 5,000,008 * 1 5,000
-2 % 3,000,008 * 1 3,000
- 2,000,008 * 2 4,000
OUESASMA 24012 24012 AIMS 12,000
—z2% 5,000,000% * 1% 5,000
-2 % 3,000,008 * 1 3,000
- 2,000,0008 * 2 4,000
AEAsY SHAY 826,050 791,550 34,500
301 LPBAI 419,800 379,800 40,000
12 JIERAS 419,800 379,800 40,000
OYFMSUE AT (HHISZ) 118,800
—MAEE 5,002 * 18,000% 90,000
— AR 1,6002 * 18,000 28,800
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_ _ _ N E
SNBSS - HRAY - BHES Aboy o HIRZE2
OUERNZ0IS EHIMASI ZoI2 N
20,0002 * 10,000 200,000
ORESITI| MUEX HeS X2
400,000% * 250ha 100,000
OHYLSX MatsIt BeiZ K&
1,002 * 1,000kg 1,000
402 21RO 406,250 411,750 5,500
01 QIARERE 406,250 411,750 25,500
ONEIM FASTT MU K&
1,000,000 * 100ha * 50/100 50,000
Ol WHisIt HEX
3,300% * 60F * 3,000ha * 50/100 297,000
OR5% MWK 2 Mo XA
900,000% * 50 * 50/100 22,500
OYFu DS MAGK XS (LHISZ) 36,750
—EYMSH X
600,008 * 70ha * 50/100 21,000
—9BHI2 K™ 450,002 * 70ha * 50/100 15,750
ANHASANFNEH(2) 197,000 200,000 3,000
= 197,000
01 LsEa 197,000 200,000 A3,000
= 197,000
12 JIEEN3 197,000 200,000 A3,000
ORSF=Y MNFHEH  428,2602 + 460ha 197,000
= 197,000
EAZAXANE X EM (=) 395,000 366,433 28,567
= 350,000
= 45,000
01 LsEAZ 395,000 358,712 36,268
= 350,000
= 45,000
12 JIE2 A3 395,000 358,712 36,288
OxAE2XN XX
500,002 * 1,000 * 79/100 395,000
= 350,000
= 45,000
EYNSRBS(=) 864,710 515,500 349,210
= 691,768
Al 172,942
402 BIIR2OIH 864,710 515,500 349,210
=2 691,768
Al 172,942
NIRRT 864,710 515,500 349,210
OEYMH B2 137.081.48% * 6,308% 864,710
= 691,768
Al 172,942

_52_




=sgJl=4dH
A= MM (sEHHLSM /5 - &)
MEtdsgy A (&9 ®M
_ ) _ pofEN
A -3 -H2A(SH) - HEAMY - BES e bﬁ/‘\_“’” Hos
SIEH SR AL (=) 3,664,380 2,827,250 837,130
= 2,256,200
< 420,120
Al 988,060
402 2I2HRE0lH 3,664,380 2,827,250 837,130
= 2,256,200
== 420,120
Al 988,060
01 QX=X 3,664,380 2,827,250 837,130
OKRINIEYIZ XA A
144,923.07& = 38,900& * 65/100 3,664,380
= 2,256,200
< 420,120
Al 988,060
=HIXE2 SNHUXA(Z) 352,800 188,000 164,800
= 176,400
< 52,920
Al 123,480
402 2IHRE0lH 352,800 188,000 164,800
= 176,400
< 52,920
Al 123,480
01 QX=X 352,800 188,000 164,800
O=tHlzs SN N&  294,000& * 1,200ha 352,800
= 176,400
[ 52,920
Al 123,480
HASSENAZTRNS MY &)(=) 5,000,000 0 5,000,000
= 5,000,000
301 YetEAS 5,000,000 0 5,000,000
= 5,000,000
12 JIEt243 5,000,000 0 5,000,000
OlALASSEBEETEXZEN
833,333.3& * 6,000ha 5,000,000
= 5,000,000
QBN ZH(R) 19,500 0 19,500
= 13,650
< 1,755
Al 4,095
301 et Az 19,500 0 19,500
= 13,650
& 1,755
Al 4,095
12 JIEt243 19,500 0 19,500
OZ2EHAHXE N 650,000& = 30ha 19,500
= 13,650
& 1,755
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SN s
&l

X{ ZH -
o= -

ro o
>
19
0
o
%
02
#
B4
0
it
O
L

el &

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

EBSASEHZ2 S (E) 27,500 18,750 8,750
11,000
16,500

=z H

301 Let2a= 27,500 18,750 8,750

11,000
16,500

= H

2 27,500 18,750 8,750
Sa2 Bl X2
008! * 11,00021 * 50/100 27,500

11,000
16,500

o
o

=

SHXESIEXNI (D) 28,000 40,000 A 12,000
8,400
19,600

=z H

402 22t =01 28,000 40,000 212,000

8,400
19,600

=z H

28X 28,000 40,000 A 12,000
2

o
o
o
o
o
*
N
o
=
o
*
~
o
-
o
o

28,000

8,400
19,600

=z H

HELSFEIIXA(E) 102,446 84,048 18,398

30,734
71,712

=

402 QI2HHE01M 102,446 84,048 18,398

30,734
71,712

= M

ENS 102,446 84,048 18,398
XA (LX)
120,000,000 * 1JHA = 70/100 84,000

25,200
58,800

=

O

HERIEXR(HE=*)

20,000,000& = 1JH2 = 70/100 14,000
4,200
9,800

=

O

HEQRTEXH(AE)

1,270,000. 1& = 5J44 = 70/100 4,446
1,334
3,112

=z H

HESRQAT Meld XE (%) 26,400 0 26,400
5,280
21,120

=

402 QI2HRHE01H 26,400 0 26,400
5,280
21,120

=
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SN sl
By ABASY ABMY(SYHLSL/5Y - 55)
ool AEYsY A SRCE
_ _ HE T
SN -EHH . (B) - MPAY - BE2 Ao il i~ o =2
01 BIZFGEEXR 26,400 0 26,400
OHSRAX HelH X
150,000& * 352ha * 50/100 26,400
= 5,280
Al 21,120
SorO A AR (F) 44,000 35,200 8,800
= 8,800
Al 35,200
206 M=l 44,000 35,200 8,800
= 8,800
Al 35,200
01 M=zl 44,000 35,200 8,800
Os= At HHIXA 40,000& = 1,100ME 44,000
= 8,800
A 35,200
AEE SN (F) 50,000 0 50,000
= 10,000
Al 40,000
402 SI2HXHE01H 50,000 0 50,000
= 10,000
Al 40,000
01 A X2EX 50,000 0 50,000
OHBA=TI K&
2,000,008 * 50ha * 50/100 50,000
= 10,000
Al 40,000
ZEMBHTNSH(E) 24,000 0 24,000
& 7,200
Al 16,800
402 SIH 201 24,000 0 24,000
= 7,200
A 16,800
01 It EEX 24,000 0 24,000
OIS NS4
1,000,000& * 30ha = 80/100 24,000
= 7,200
Al 16,800
sl (sgllYrb/ s - s&) 496,139 413,996 82,143
A= Jlsig 419,235 330,910 88,325
o, AE, ABAY 238,855 53,910 84,945
101 eIt 27,740 30,800 A3,060
04 JIZtHIZ2E2ENEE S 27,740 30,800 A3,060
OSR, NE, 4ZAY Heoey 27,740
— st sAld 22l 38,0003 * 298 * 50 3,800
—20| AbLR2l 38,0008 * 1 * 90 3,420
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M s€lis4dH

FH: sl (sgalldsdt/sd - &)
Sel: XNdsg Jl=Heg (ctel &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
—OFisl, NASHE Z2E2 44
38,000& » 3" = g0 9,120
—EZSA Y = 33,0008 « 3 « 402 4,560
—OIMBIAE QB4
38,000& * 3" » 20 2,280
—2HH=S &S 38,000& » 3" » 20 2,280
—SEEX2 A3 38,0003 * 3% » 20 2,280
201 Let2IH| 19,185 18,040 1,145
01 AtE222/Hl 2,670 2,010 660
O, ANE, asEd 970
—AHZE 3,000& * 904 270
—=HZ 10,000& * 304 300
—=Ez 40,000& = 109K 400
OXF22d &Y= 100,000& = 52 * 13l 500
O=&dl xt 300,000& = 1CH 43l 1,200
02 =234l 16,515 16,030 485
OANEZ 298 SIASF 1,525
-3 = 1,450 » 500 £ 725
—3gR 1,600& * 5004 800
OANEZHEU A=Kl 13,090
—Zte| A 10,000& * 33m’ 330
—H2MED 10,000& = 32m’ 320
—=SMARAATA 10,000 * 268m’ 2,680
—scl=24 10,000& * 336 3,360
— X SstoteAR 7S 800,000& * 8= 6,400
OsIIAH S X 1,900
—EdH 500,000& = 1CH 500
—zeld| 200,000 * 3CH 600
—Z2J12 38 200,000& = 4& 800
206 M=l 24,230 23,020 1,210
01 M=H| 24,230 23,020 1,210
O& 20l At=HI 10,500
—SRAE 10,000& * 600X 6,000
—JIEH(RIZ22D], THAR) 10,0008 * 3002 3,000
—gHA S MSHE 30,000& * 503/ 1,500
O3, AN, dE5E2F 13,730
—APETLY 300& = 1,0000H 300
-0l DREL 400& = 1,00004 400
— 2t ol Xt 7,000& * 3004 210
—Hg=sds 20,0002 = 10K 200
—& 6,000& * 200K 120
—Hlg, 3=, HE S 2,000,000& * 14l 2,000
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N

D s9Jl=dH

D sl (sEMHYb /s - sE)
g

S HE - S(EH) - NRAY - BES sk oy S 2
0f 4 o
—d2axdE SEHY 5,000& » 200= 1,000
&=, 4720 & 20,0008 * 105 * 102 2,000
— & XHIH 10,000& * 508 = 43| 2,000
== PNE=PAN| 3,000,000& * 14l 3,000
—24&2HlE2 E §Hl 5,000& » 500% 2,500
207 AN 34,300 63,050 A 28,750
03 A& A | 34,300 63,050 228,750
OdUE=E &dSAE 4,000
-3 ¥ 3R 200,000& * 58 = 23l 2,000
—Hz ¥ s 20,000& * 108 = 53l 1,000
— XH bH X+ XH 1,000,000& * 14 1,000
O=Egazs &SAE 4,500
-3 ¥ & 50,000& * 10& * bkg 2,500
—HzE & s 20,000& * 108 = 53l 1,000
— XH BH K+ TH 1,000,000 14 1,000
OO0rdist ASAIE & S4 4,700
—Si & 2= 5,000& » 58 = 1002 2,500
—=E28 ZLE 30& * 30,0004 900
—=SE2E &4& 8,000&  100% 800
— KH BH XFAH 500,000& * 14 500
OEEAMSANE % &4 7,300
—-I E 30& = 40,0004 1,200
—IEEA 40,000 * 50X 2,000
—a & 8,000& » 200%£ 1,600
—=9, MIXEM 50,0008 * 1085 » 28] 1,000
— XHBH XHRH 1,500,000 * 14 1,500
O & =MAZE ASAIE 3,500
-5 B 50,000& * 10& * 52 2,500
— RHUH Xt 1,000,000& * 14 1,000
OoteA SFHH 1,000,000& * 4= 4,000
OE2HES ?A&t EHIZMAIE
70,000& * 38 * 30 6,300
401 AlEHIL 28] 130,000 19,000 111,000
01 Al&H| 130,000 19,000 111,000
ASANEE oA HILWA 12,000
—HSotRA 10,000,000& * 1= 10,000
—HSotRA 1,000,000& * 2= 2,000
QoA AR 1,000,000& * 8= 8,000
O30l ArFEAL A3t 2t=Ald & X
10,000,000& * 1A 10,000
O30l AFSA BF
200,000& = 500m" » 14 100,000
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M s€lis4dH

HH: o)WY (SEHS AL/ 5 - &)
g

el Rois JlEHe (B9 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
405 XtarE S| 3,400 0 3,400
01 XHAUSEE S| 3,400 0 3,400
OsFCI2) 2,500,0002 * 1CH 2,500
SEEEES] 900,0002 * 1CH 900
SUMASIIENLHRL 2 131,100 129, 100 2,000
201 Ygreg| 26,100 26,100 0
01 ALR2relH] 26, 100 26,100 0
OSUHTSIIEHL AL HAA 2 26,100
-4 ® 10,000,0008 * 1% 10,000
—oipe 5,000,0002 * 2 10,000
GEL L 2,000,000% * 2% 4,000
—29923 70,0008 * 15% * 23l 2,100
207 ALl 105,000 103,000 2,000
01 eREAY| 100,000 100,000 0
OSQHTSIIEHYE A8 100,000
—ADH Q1A SE =4 S(S5DHAI)
20,000,0002 * 54! 100,000
03 A&7l 5,000 3,000 2,000
OB % 5,000,008 * 14! 5,000
ST 29 49,280 47,900 1,380
101 o121l 4,700 1,400 3,300
04 JIZH22X 4,700 1,400 3,300
ASHES Bt S2 MLUAY 1,400
—23 U SR MR
35,0008 * 288 * 202 1,400
OYZAISH MBS MM ASAY 3,300
—NEZDH ¥ S8
38,0008 * 18 * 502 1,900
23 U R MaBP
35,0008 * 28§ * 202 1,400
201 Yer2g| 24,580 31,000 ~6,420
01 ALR 22/t 700 200 500
0N R4 % T=| 10,0008 * 2% 200
OITAZ NEE T8 U 2
10,0002 * 54 500
02 =2l 23,830 30,800 A6,920
ONBR S
1 * 12A12F * 30 * 100 20,880
oel7a I 500,0008 * 6% 3,000
207 1IN Y| 8,000 5,500 2,500
03 Algel ] 8,000 5,500 2,500
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D s9Jl=dH
sl (s et/
Q

P sgEHEgstn

=

H
TAl

02

At

=0 . _‘.—_ZTS)
S e

SNBSS - MEAY - BES

22
J2

20
B
2

== 100,000& = 1AIZt * 63l 600
-0 4l 70,0008 = 1H = 63 420
ANEBI23E2H &Al 67,224 61,766 5,458
201 LetI] 12,924 13,266 A342
01 AtR22/Hl 1,000 1,000 0
O&AlZ BF 10,000& = 10094 1,000
02 2234l 6,264 7,200 A 036
OMEANA o2y
1,450 = 20+ 24A12F = 104 » 90 6,264
03 A2 ZHI 5,660 5,066 594
O&AlE g8 1,700
~EBE0H(20/8)
60,000& * 5044 * 33| 900
—ESEAN(BANE)
100,000& * 1A = 33l 300
—cl=g, =¥E 500& * 1,0000H 500
O&A3 =HEX 4,000& = 990m 3,960
206 M=l 14,300 18,500 A4,200
01 M=H| 14,300 18,500 24,200
O=HE B4 B 2,500
-= B 500& = 1,000 500
-3 =2 2,000& = 1,0004 2,000
O=&EAE HZ 6,000
—&E&, OtAtE 100,000& * 20& 2,000
—-2=2¢ 3,000& * 10& * 1002 3,000
—dAE RAEE 100,000& = 102 1,000
OEEFMAE MZ 3,600
—=48, IAIE 8,000& » 28 = 1001 1,600
—EEATH 20,000 * 100= 2,000
OFAIZ 2H(0tMs, 2 S) 2,200
—-2=7¢ 8,000& » 50& * 33 1,200
-2, 845, I S 1,000,000& * 14 1,000
307 212t01& 40,000 30,000 10,000
04 QIRHHALE X 40,000 30,000 10,000
OO & Al 2 5,000,000& * 23l 10,000
O=3t&AlIE 30,000,000& * 13l 30,000
HY2AHU (sEX W) (IIEHIIE 128,134 127,015 1,119
Jl23| 123,934 123,235 699
Jl=&d| 123,934 123,235 699
201 et 26,124 25,935 189
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SN SIS
HH: HH2AAH(SEXNEZL)(JIEH/DIIE)
el Jl=3 (el =3
SNBSS NRAY - B2 04l & o4 e HlE2
01 AtSR22/Hl 26,124 25,935 189
OSAEX 228l 13,0008 * 2182fA « 128 3,276
OE20AlHl 5,000& = 64 * 21H » 123 7,560
Oggteg 100,000& = 123 1,200
OL7AL2 SN2 50,000& * 12& 600
OLA2 =&Hl 8,520
—ZelHJ| 2l
100,000& = 5CH * 50/100 250
— =AD&l 200,000& = 52 = 1.5CH 1,500
—ZEEI(EY) EH
200,000& = 53| » 5CH 5,000
—S A F=el(L) 500,000 « 1.5CH4 750
—PC==clHl 100,000& = 21CH = 20/100 420
—JI&t =2l 50,000& 128 600
OJIEt IR EZ 5,000 » 21" = 123 1,260
Oulat= 2 22,416,000& * -10/100 A2,241
(OFS3=PNES 6,610
—=SAMEX 2dl 13,0008 » 5A « 123 780
—S204alH| 5,000& = 34! » 5H = 123 900
— Ytz 100,000& * 3IH A 300
—A72 =&l 4,330
SADI(AE) 22l
500,000 = 1CH = 30 1,500
- ZEIHJ s=eld
100,000& * 30HA * 50/100 150
- SA EH 200,000& = 23] » 30 1,200
- ZEIHJl EH 200,000& * 23 * 304 1,200
- PC==cl | 100,000& = 5CH = 20/100 100
- J|Et==ClHI 60,000& * 30 180
—JIEt AIREFHI 5,000& = 59 « 128 300
Ol &HE 2 6,610,000& * -10/100 A661
202 O 97,810 97,300 510
01 WY 82,810 79,300 3,510
Os&XNzl R o 81,060
—2tLH0dHl 20,0008 = 21 * 12 » 128 60,480
— 22/l 70,000& = 219 + 14 20,580
OXNRX A 220l 70,0008 » 5% = 5 1,750
02 EAHNYI 15,000 18,000 A 3,000
OXFX A HE AN
250,000& = 5% » 128 15,000
QI 2| 4,200 3,780 420
eI 2| 4,200 3,780 420
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S B
X ZH: S
S Tt

el

el
x
0
-
i
4o
fon
2
>
el
=
R
=i
0x
o
=
[
2
2
R
12
o
£l
0l%
IS

203 LR =& 4,200 3,780 420

DEFY| 4,200 3,780 420

H
350,000& = 12& 4,200

HEZAD8 (s LM/ 5 - &) 3,104,451 3,005,392 9,059
316,044
p) 407,494
472,567
Al 1,908, 346

H

H

sloag S A 900,364 796,449 103,915
199,332
121,271
579,761

>y

A DI101FH(2) 122,776 151,414 N28,638

73,888
14,666
34,222

=Y

307 G12t0lH 122,776 151,414 A28,638

73,888
14,666
34,222

=N X

02 BIAANEX 122,776 151,414 A28,638
=]

9,000& = 10,8645 97,776
48,888
14,666
34,222

=Y

OMDI0IAZHTI (M &k2Hel)
25,000,000& = 14! 25,000
p) 25,000

A= RS AAHAL(E) 6,540 10,800 AN4,260

1,635
4,905

=

307 2120l & 6,540 0 6,540

1,635
4,905

= M

6,540 0 6,540
5 30,000& * 2185 6,540

1,635
4,905

Hh

o
N
=
~
0X
0z
v H
FA

O
0z
=
=)
i
JA
=
>
0z

=z H

h
o
bl
0z
B
0
0z
=
R
in

43,800 43,800 0

13,140
30,660

=

w
S
W
e
oy

43,800 43,800 0

13,140
30,660

=
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=PI
I AP ZY(SRHLSA/ 5 - 5&)
CHel: Bty |4 (etel: &
_ - P e
A - SR(S) - MPAY - BAS Ofl &F o8 il ot o Hn=2
01 2013 43,800 43,800 0
OZOLXI A4 & OFF ALY
20,0008 * 4,380 * 50/100 43,800
[ 13,140
Al 30,660
TALZMAX A (E) 118,900 154,240 35,340
[ 35,670
Al 83,230
206 M EH] 74,800 0 74,800
[ 22,440
Al 52,360
01 M2l 74,800 0 74,800
OZXAL2 M A BHatTH (AFL2I XI R Z & DA
80,0008 * 350H 2,800
[ 840
Al 1,960
OZXA2 M A BHET (ZAL2 A AHEHI X&)
40,000,000 * 3HIE * 60/100 72,000
[ 21,600
Al 50,400
307 QI2HOIA 8,100 4,800 3,300
[ 2,430
Al 5,670
02 DIZHAAEE 8,100 4,800 3,300
OZA2H A S (AR RSB XHHAI)
240,0008 * 112.5ha * 30/100 8,100
[ 2,430
Al 5,670
402 BI2EXH20 A 36,000 124,000 88,000
[ 10,800
Al 25,200
01 IR E 36,000 124,000 88,000
OZXA2MADBHEH (A2 EEIIXIH)
30,000,0008 * 2CH * 60/100 36,000
[ 10,800
Al 25,200
HFBLR BUC S5 AY 292,500 351,700 59,200
201 ety 33,500 33,700 A200
01 AtR22lH 8,500 8,700 A200
OYFsR BT EBAIY =X 8,500
—222 M=z 3002 * 5,0000H * 55 7,500
— il LA CH 100,000 * 109M 1,000
02 SS2gH 25,000 25,000 0
OSL=42 28 215 25,000,0008 « 122 25,000
301 LBrE A3 25,000 10,000 15,000
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A s€I
SZ
akS)

HE: SABAD|E T (SEHLSN/5 - 5E)
ool sRM S4 (S5l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
12 JIEtE &S 25,000 10,000 15,000
OB MAICHH HACCP 01 &g X
5,000,002 * 1094 * 50/100 25,000
307 QI2H0IH 4,000 283,000 A279,000
02 BINANBE 4,000 4,000 0
OYFst2 RS (L) X
4,00020 * 2,0002 * 50/100 4,000
402 Q12X 0|F 230,000 25,000 205,000
01 pIAXE=EE 230,000 25,000 205,000
ONEX IFEHLLUS SHAY 230,000
—HISSI] 8 AIZHl 50,0008 * 1,0005 50,000
—z=s=y 6,002 * 5,0005 30,000
—2ES=204| 50,0008 * 5005 25,000
~DEISUCE XA
10,0008 * 5005 50,000
~EEELREX DHB AL
7,5002 * 10,0005 75,000
EALR LD BHEE S AL () 209,612 0 209,612
| 125,444
= 25,250
Al 58,918
301 LBA 97,920 0 97,920
| 58,752
= 11,750
Al 27,418
12 JIEt2 A2 97,920 0 97,920
OF AR MAD|BHEtE AL (AL 2 X HI E HI)
1,200,0002 * 81.6ha 97,920
| 58,752
= 1,750
Al 27,418
307 Q1201 21,692 0 21,602
| 21,692
02 DIIAMNBE 21,692 0 21,602
OXANBMAIISESA (BN, ERH2I)
216,9202 * 50ha * 2% 21,692
| 21,692
402 Q12X 0|H 90,000 0 90,000
| 45,000
= 13,500
Al 31,500
01 pIZTEEE 90,000 0 90,000
OXABMAD|SE S AL (FSHEE 2Y)
50,000,008 * 14 * 60/100 90,000
| 45,000
= 13,500




SN S EHE
Ha: dREAI|P TS (SHHYS/5Y - 5F)
ool sRae 84 CrRL
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
| A 31,500
SRNBAY (E) 88,716 0 83,716
= 24,230
Al 64,486
301 LB A 41,800 0 41,800
= 10,948
Al 30,852
12 JIEEN3 41,800 0 41,800
OB PHBA (LBLHEXE)
550,008 * 955 * 80/100 41,800
= 10,948
Al 30,852
307 QI2H0|H 24,280 0 24,280
= 6,994
Al 17,286
02 BIABABE 24,280 0 24,280
OB 2MTAY (B2 SZHIX )
5,008 * 1,450 * 80/100 5,800
= 1,450
Al 4,350
OBLWBAIL (HRSEL UBLTEXD)
30,0002 * 7705 * 80/100 18,480
= 5,544
Al 12,936
402 RIAR 20| 22,636 0 22,636
= 6,268
Al 16,348
01 eIATEBE 22,636 0 22,636
OO0 NUSLEHD
25,1002 * 1,025 * 90/100 22,636
= 6,268
Al 16,348
M4SN () 17,520 0 17,520
= 6,680
Al 10,840
402 QIR 20IH 17,520 0 17,520
= 6,680
Al 10,840
01 PIAX=EE 17,520 0 17,520
OSA SIS (DHZESZ0IX2)
5,0002 * 2907 * 60/10 8,700
= 2,900
Al 5,800
OSSN (BLEHSHAZSEA)
300,00020 * 424 * 70/100 8,820
= 3,780
Al 5,040
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SN
X XH .
S Tt

£l

M- B8 S2(3H) - HRAY - BaS

=1
B
121

H

H

=

1,159,981

259,844

71,024
190,687
638,426

916,683

243,298

= HnH

324,678
188,814
67,932
67,932

159,332

165,346

206 M= dl

= H W

324,678
188,814
67,932
67,932

159,332

165,346

324,678,000& * 14

= H W

324,678
324,678

188,814
67,932
67,932

159,332

165,346

= N W

194,400
51,030
35,721

107,649

192,720

1,680

301 Yereaa

= Hn W

194,400
51,030
35,721

107,649

192,720

1,680

8,000& = 24,3005

= N W

194,400

194,400
51,030
35,721

107,649

192,720

1,680

SSYHE XA(2)

S

H

142,048
71,024
21,307
49,717

137,416

4,632

206 M=l

= mn X

31,648
15,824

4,747
11,077

33,196

A 1,548

=
OssZHe

15,824,000& * 25

>y

31,648

31,648
15,824

4,747
11,077

33,196

N 1,548

Il

110,400
55,200

104,220

6,180
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2A: sgI=HH
o MAEM)|P R (S Sol - 5E)
ool JiENgY 28 CR-E]
SN EY O (BH) - MRAY - BLS Aol e =2
& 16,560
Al 38,640
12 JIEt2 43 110,400 104,220 6,180
O=sgHE 2 60,000& * 1,840= 110,400
J| 55,200
& 16,560
Al 38,640
IIEZYUSEAISE(E) 241,030 212,680 28,350
= 59,727
Al 181,303
206 M= HI 106,480 105,320 1,160
& 31,944
Al 74,536
01 M=Hl 106,480 105,320 1,160
OFHY S YAA (A=HE)
3,240,008 * 1082 32,400
= 9,720
Al 22,680
OFHS £ oAl (=)
5,000& » 5204 2,600
= 780
Al 1,820
OS2 0l X = A (SOFTI& AT )
15,0002 = 1,640 24,600
& 7,380
Al 17,220
OIS EH 0L ST
102 = 3,230,000=~ 32,300
& 9,690
Al 22,610
P E LS ENE-DIELEES
3,000& * 4,860 14,580
& 4,374
Al 10,206
301 Zet24 80,850 87,310 A6,460
& 11,673
Al 69,177
12 JIEtE & 80,850 87,310 AB6,460
O4a B4ty MHEZHUIXA(ANUISH)
8,000& * 3,5405 28,320
& 7,434
Al 20,886
OHEEE Al= 1,000& * 14,1305 14,130
& 4,239
Al 9,891
O3=9 =% 800,000& * 4H * 123 38,400
402 2I2H X201 46,900 16,750 30,150
& 14,070
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SN SIS HE
U HASAIE ES(SYHSLN/SY - 5E)
ool JlEmYY 2B (Ere): & 2
_ _ _ Muo
SA - EM . OR(F]]) - NRAIY - BAS Off &+ o4 Sl ko HREZ
Al 32,830
01 It ELEL 46,900 16,750 30,150
OF4=0t 2SAETAY 46,900
-2 20,000,000& * 1JHA = 70/100 14,000
= 4,200
Al 9,800
—-s712 3,000,000& = 12JHA = 70/100 25,200
= 7,560
Al 17,640
-8 500,000 = 22CH = 70/100 7,700
= 2,310
Al 5,390
405 AHoHESHI 6,800 3,300 3,500
= 2,040
A 4,760
01 XHABEF S| 6.800 3.300 3.500
OgAEHIXS 6,800
—a dAE 2EI|7Y 560,000& = 5CH 2,800
S 840
Al 1,960
~ZEYRY 2SIYIPY
4,000,000 + 1} 4,000
= 1,200
Al 2,800
JEdEE oY 217,825 214,535 3,290
101 el 24| 3,000 3,000 0
VBN EES TS 3,000 3,000 0
O 4 224p axE 83 o2
100,000& = 18 * 302 3,000
201 LEt=EH| 30,980 35,140 24,160
01 ARl 22,820 27,220 74,400
O sTYY oY £ 1,500
—22 cl=3 M= 3003 * 1,00004 » 35 900
—8=% M 60,000& = 100K 600
O THY. B242 27 £1 7,700
—ZA2ZA HE 10,000& * 90% 900
—ASAA JIEE 1002 * 3,00004 300
—od JENY S2E
500& * 2,000% * 38 3,000
— A= YK ZAIE 30,0002 * 1000 3,000
—MHESE MA 100& = 5,0000H 500
O4 224ply &4HE 22 XY=
100,000& = 10 1,000
O4 224ty w98 HHIY
50,000& * 20& » 23 2,000
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A SIS HEH
M MBI L (SHHLSM/5Y - 55)
el =AYy 2F (St &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OA B242tH HERRA (LS A S 2|
5,000 * 2% x 100 1,000
OA E24detd 292 02 Heldlg X
250,00094 *505 * 50/100 6,250
402 QIZEXH=0|A 18,000 15,000 3,000
01 QI R=E=X 18,000 15,000 3,000
OJ=FEY HYOUSAMY sHEASAE X 18,000
—AS A 3,000,0002 * 10004 * 60/100 18,000
IISYUARY XK (2) 40,000 0 40,000
= 20,000
[= 6,000
Al 14,000
405 KHAHE S 40,000 0 40,000
= 20,000
[~ 6,000
Al 14,000
01 ML SEFSH| 40,000 0 40,000
OAERY 7Y 40,000,000 = 1CH 40,000
= 20,000
[= 6,000
Al 14,000
MAD|EE = L E2Y 664,266 923,460 A259,194
pJ 137,138
[= 124,981
Al 402,147
SNz A(2) 185,625 156,750 28,875
] 129,938
[= 16,706
Al 38,981
301 Lt A= 185,625 156,750 28,875
pJ 129,938
[= 16,706
Al 38,981
12 JIEtB A2 185,625 156,750 28,875
OSNRFIAXY 3302 » 2,250 * 250 185,625
pJ 129,938
[= 16,706
Al 38,981
S=X2(E) 10,672 20,000 A9,328
[= 3,202
Al 7,470
301 Lt Az 10,672 0 10,672
[= 3,202
Al 7,470
12 JIEt2 A2 10,672 0 10,672
OXRASSI ALY 55,0002 * 1505 8,250
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SN
X XH .
S Tt

el

SN CR(EH) - NRAY - BES

22
J2

20
B
2

=

2,000& * 1,7305 = 70/100

=

2,475
5,775

2,422

727
1,695

= H

60,000

12,000
48,000

52,000

8,000

= H

60,000

12,000
48,000

52,000

8,000

fin ol
>

o
OIS
W &
0y HT
o 0

=
Q

400,000& * 3005 * 50/100

= H

60,000

60,000

12,000
48,000

52,000

8,000

LAHXAAME(E)

=

102,760

30,828
71,932

98,280

4,480

402 2I2tt=01 A

= M

102,760

30,828
71,932

98,280

4,480

01 ezt

2SR E X2 ALY )

OLHBUHLSNSHAZHAXEAIY)

70& * 2,236,0000H * 50/100

=

3,500& * 14,000% = 50/100

=z H

102,760

78,260

23,478
54,782

24,500

7,350
17,150

98,280

4,480

SIS ()

=z H

160,934

54,385
106,549

50,800

110,134

402 2Ib =01

= H

160,934

54,385
106,549

50,800

110,134

01 eI2txt=

FE M D&

& AL

17,000,000& = 2902 * 60/100

=z H

30,000,000& = 3002 * 50/100

=

160,934

20,400

6,800
13,600

45,000

13,500
31,500

50,800

110,134
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SN S SME
Ha: MRS ZH(SYHS A/ 5 - 5E)
SOl MAD|E PE U 22 (e @
_ _ _ N E
SA-EHB . CA(ENH) - HEAY - BE2 Ofl &F o8 Gil it o HRs2
OEIFEH 2| Al & Al AL
15,000,002 * 194 * 70/100 10,500
= 4,500
Al 6,000
OLZAAE X
10,000,008 * 2244 * 70/100 14,000
= 4,000
Al 10,000
OXRSMLIl X
2,000,0002 * 8CH * 80/100 12,800
= 3,840
Al 8,960
OAZZ X¥ 1,802 + 9,6009 * 80/100 13,824
= 4,147
Al 9,677
OZY 32 X¥ 4,508 * 3,100kg * 80/100 11,160
= 3,348
Al 7,812
ONES4 N
4,500,00020 * 5CH * 70/100 15,750
= 6,750
Al 9,000
ONETRI| N
25,000,002 * 134 * 70/100 7,500
= 7,500
Al 10,000
ENEREDInl(=) 8,000 17,300 ~9,300
= 2,400
Al 5,600
307 2120/ H 8,000 8,000 0
= 2,400
Al 5,600
02 IAHPNBE 8,000 8,000 0
OEMSHUCHE I
4,000,000% * 2JHA 8,000
= 2,400
Al 5,600
NEASIIY N 83, 155 426,870 £343,715
201 Y2yl 6,100 10,160 ~4,060
01 AtRZelt| 6,100 10,160 ~4,060
Oslge 22 =X 3,300
—s4g 60,0002 * 154 900
—gw2 3002 * 2,00000 * 4% 2,400
OF4=Il RSN RO
4,0002 * 1005 * 3% 1,200
OSLALE Zel 22
QDB U AEI R0 20,0002 * 10 * 5 1,000
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SN SIlEHEH
HE: SABAD|E ZH(SEHLSN/5 - 5E)
SOl MADIE PE Y 28 (e @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
OZR4% 24 222
30,0008 * 1094 * 23l 600
206 2| 500 500 0
01 &bl 500 500 0
OZR2#2Y(ZRY 7Y) 1,0008 * 5000H 500
301 YBrEAS 16,480 34,660 £18, 180
10 BAAHIE A2 2,800 4,060 A1,260
OF&sIt IS o) 70,0002 * 40% 2,800
12 JIEE A3 3,680 30,600 16,920
ORASES o A 13,480
-s= 8,0002 * 2005 1,600
-2y 1,8002 * 6,6005 11,880
OF st AL 200
—-Jee 10,0002 * A2 * 28l 200
307 212+0IH 7,500 6,900 600
02 PINBAEE 7,500 6,900 600
O4s UHX 2
15,000,002 * 19H4 * 50/100 7,500
402 212t XH 0| F 52,575 374,650 A322,075
01 DIZTEEE 52,575 374,650 ~322,075
ONEE 22 #(8)) 7
7508 * 25,0000 * 50/100 9,375
ODNEN =8 MAS TS AR (TIR) X
360,0008 * 200€ * 30/100 21,600
ONBHES X (ZXTL)
240,00020 * 300ha * 30/100 21,600
E42 AHER L EE 28,100 77,100 49,000
202 01t 2,100 2,100 0
01 =2Uloibl 2,100 2,100 0
OF42 MEHAL &
70,0008 * 1% * 52 + 63l 2,100
307 212+0IH 6,000 30,000 24,000
04 DIRISHALR X 6,000 30,000 24,000
OR+ZMS IB U 22X HA
2,000,0008! * 33 6,000
402 Q12H X201 F 20,000 45,000 25,000
01 pIZTEEE 20,000 45,000 25,000
OS+HM2 SHC TR X
10,000,000%! * 4% * 50/100 20,000
HACCPXI S I 2 (2) 14,400 0 14,400
| 7,200
= 2,160
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SN
X XH .
S Tt

el

- EH - HA(SAH) - MRAE - BES

[
2

20
B
2

Al

5,040

>y

14,400
7,200
2,160
5,040

14,400

12 JIet24 =3

OHACCPXI = XI & (=)
8,000,000 * 3JHA = 60/100

= mn X

14,400

14,400
7,200
2,160
5,040

14,400

= H

10,620

3,300
7,320

10,620

=

9,100

2,730
6,370

9,100

= H

9,100

9,100

2,730
6,370

9,100

= M

1,520

570
950

1,520

950,000 * 278 * 80/100

=

1,520

1,520

570
950

1,520

=z HnH

369,040
56,200
35,628

277,212

446,200

AT7,160

= N W

108,200
56,200
15,600
36,400

262,800

A 154,600

= N W

56,600
28,300

8,490
19,810

50,000

6,600

200,000 = 283ha

= HnH

56,600

56,600
28,300

8,490
19,810

50,000

6,600
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SN Sl
HE: QAELIIB TS (SRS SN/ - 5E)
Sel HEE =4 84 (ol &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Aol Sl ko HRE2
402 Q12tTH2 01 51,600 188,800 A137,200
2 27,900
= 7,110
A 16,590
01 It GEEX 51,600 188,800 A137,200
OINE2LHRAN XA (AU HEE)
17,000,000& = 14l = 80/100 13,600
= 5,100
= 2,550
Al 5,950
ONE2LHANMTBAL (FME L HEIAlL/
HE) 7,600,0002 = 10J0H2 = 50/100 38,000
= 22,800
= 4,560
Al 10,640
SIS AT AMNG(Z) 64,640 41,200 23,440
= 20,028
Al 44,612
402 SI2t X201 & 64,640 38,400 26,240
& 20,028
Al 44,612
01 QI EEX 64,640 38,400 26,240
OF0I25HE 2 H X 2
20,0002 * 390MIE * 80/100 37,440
= 9,828
Al 27,612
OMHI T & Z A& K 2 A
17,000,000& = 271 = 80/100 27,200
& 10,200
Al 17,000
e S 196,200 142,200 54,000
201 Lty 1,000 2,000 A1,000
01 AtER22/Hl 1,000 2,000 A 1,000
OFMSy Ayl ALK EAD R
20,0003 * 5004 2 1,000
206 M=l 25,000 0 25,000
01 M=l 25,000 0 25,000
OMPH A48 D142 B 7
10,000& * 2,000 £ 20,000
OEE=sd 28+ 72 2,500& * 2,000== 5,000
301 YptBaazg 700 700 0
10 EALAHIEA S 700 700 0
OZHEL S A0
70,0004 * 23| » 5& 700
402 PIZETHZOIH 169,500 139,500 30,000
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A s€I
SZ
akS)

HE: dRFM|Y T (SYHYRL/5Y - 52)
ool BT B4 S4 (Sl &2)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
01 pIAX=EE 169,500 139,500 30,000
OUHIRESME SHAUY MM LEX B3
1,000,00020 * 4974 * 50 / 100 24,500
OMBH MUE DIMS UHLEAL X
75,000,002 * 194 * 80 / 100 60,000
OZNEZ WS W22
2,00020 * 45,000kg * 50/100 45,000
OrEy 2754
10,000,0002 * 8JH4 * 50/100 40,000
s2 ¥ 10,800 12,600 A1,800
Rls2 2522 10,800 12,600 A1,800
307 QI2H0IH 10,800 9,600 1,200
05 PIZteIE2 10,800 9,600 1,200
ORIIES E54 e 24|
90,0002 * 122 10,800
EUNE M (SHHYSM/ 5 - 5E) 171,230 113,770 57,460
= 35,000
= 12,000
Al 124,230
=40z 23 171,230 113,770 57,460
= 35,000
= 12,000
Al 124,230
BN E () 36,000 18,000 18,000
= 12,000
Al 24,000
402 BIAT 20| 36,000 18,000 18,000
= 12,000
Al 24,000
01 pIZX=EE 36,000 18,000 18,000
ONE2L RRXY 28 AY
40,000,0002! * 141 * 90/100 36,000
= 12,000
Al 24,000
LD EB O ALY 9,550 17,090 A7,540
101 o124l 1,750 1,750 0
04 JAM2RISES 1,750 1,750 0
OZMIIEEAAY QLA 1,750
—ol=y 35,0002 * 5%+ 10 1,750
201 LByl 3,600 3,900 A300
01 Ar22rely| 3,600 3,900 A300
OB 49t 2 DEWH HMA 3,600
—HOIL &40t H=
60,0002 * 520F * 23] 600
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M s€lis4dH

HH: FUHIE M (sSSP /=Y - &)
el |l B2 (cte: =<
_ _ _ HEC
SAN-ZH-SA(FA) - NFAY - BES (il & OH bﬂ/‘\_“’” Hlw &2
—w=sWM M 10,0008 * 320F » 1008 3,000
301 Yptsaag 4,200 5,600 21,400
10 EALAHIEA S 4,200 5,600 A 1,400
OJI=E 2 (MoU) MoiL &4
70,0008 » 420F » 159 4,200
G AHZ XY 17,600 5,000 12,600
206 M= bl 6,600 5,000 1,600
01 M=H| 6,600 5,000 1,600
Oste =dg 014 XM 6,600
-2 2 I 2SI
30,000& * 2205 6,600
301 et AF 3,000 0 3,000
12 JIEtE2 4= 3,000 0 3,000
O=3Fg MAu(IR)BHS
300,000& * 105 3,000
405 KH&HFE SHI 8,000 0 8,000
01 TR =S FH SHI 8,000 0 8,000
O=3dg 0I&s&H 7 8,000
— X Al = BH 4,000,000& = 2CH 8,000
=2 21,980 23,880 21,900
201 LBt 3| 1,300 1,800 A 500
01 AtR2telH 1,300 1,800 A500
OsLII& HALY HE
100,000 = 54 500
O=4a73| &g il
4,000& + 1005 * 23 800
206 M= bl 20,000 20,000 0
01 M=4| 20,000 20,000 0
Ooste=2 I8t AIE
Ol 4k 200,0008 = 1005 20,000
301 LBtEAZ 680 2,080 A 1,400
12 JIEtE2 4= 680 680 0
O=&E 0t HdEUs ZA+=E 680
—Jl2a 100,000& = 43| 400
—0d i 70,0008 * 43| 280
Dt sszeld 2Y 16,100 27,300 A 11,200
201 et 3,400 3,300 100
01 AtS 22/l 400 300 100
Ozletzd atela U=l 100,000& = 4% 400
02 =234l 3,000 3,000 0

_78_




D s9Jl=dH

D BUTIE MY (S-AY /s

P EMs B2 N E)
S - MM .CQ(FH) - MBAIY - BAS Al OH &EIE =2}
- o= T ° . (= (=3 =5 0:”/&,% ==
O&FHIKXAHI(H0IE S) 300,000& * 10=& 3,000
207 ALY 12,700 18,000 25,300
03 Al AT 12,700 18,000 25,300
OB BaplY 2
23 Al 2 THZE 300,000 * 53 1,500
OZ A MPTZ AL XHXH - 200,000& * 5& » 102l 10,000
O=3ot & 200,000& * 2& = 33| 1,200
=59 ZHEND JSAERDII=E22 M) (=) 20,000 0 20,000
= 10,000
Al 10,000
402 It X =01M 20,000 0 20,000
= 10,000
Al 10,000
01 SIAXGEEX 20,000 0 20,000
OIEZY olywe M5t AlY
20,000,000& = 14 20,000
= 10,000
Al 10,000
sSASIE JIsAMY(DIsESAMY)(2) 50,000 0 50,000
= 25,000
Al 25,000
402 212t XH=01 A 50,000 0 50,000
= 25,000
Al 25,000
01 SI2Zt =2 X 50,000 0 50,000
OF4U2 IIESHE sIHHE JIsAlY
50,000,000 *» 14 50,000
= 25,000
Al 25,000
SXE M) |sE3 (s /=g - &) 322,740 270,750 51,990
= 15,000
& 73,500
Al 234,240
OHE X THHHO = 2= 205,300 171,250 34,050
= 10,000
& 58,500
Al 136,800
MOz ESAY 83 1,300 4,450 A 3,150
201 L2 | 1,300 1,300 0
01 AFR22lH| 1,300 1,300 0
OJUES AIHAYE EZMA
100,000& * 542 500
O AEAIY ZD 800
— WA 2,500& * 10004 * 23| 500
-9 60,000& * 50H 300
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SN SIlEHEH
I ASKS MADIZES(SEHYSM/SY - &)
el OHE N THHIDIZ 22 (el & 2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRs2
WA HUSDEE OHEMA(T) 184,000 58,500 125,500
= 58,500
Al 125,500
402 SI2t X201 184,000 58,500 125,500
& 58,500
Al 125,500
01 222 EX 184,000 58,500 125,500
OMUHNIEZ SMLT AIIZ2S2 (AL Of
EPEEN) 0,000,0002 * 141 * 80/100 24,000
= 6,000
Al 18,000
OLEDOI 2 FZELZ THHAZAlY
25,000,000& » 14 25,000
& 7,500
Al 17,500
OHY WA QIATHYH Al
150,000,000 * 141 * 90/100 135,000
= 45,000
Al 90,000
SE5Y SN (MIE23)(2) 20,000 0 20,000
= 10,000
Al 10,000
402 SIt X201 20,000 0 20,000
= 10,000
Al 10,000
01 222 E X 20,000 0 20,000
O+25Y JISAY(AUHES 22UZS HiH
NSIES) 20,000,0002 * 14! 20,000
= 10,000
Al 10,000
SJ|ely g433 Jl= 89,380 34,190 55,190
= 5,000
= 15,000
7 Al 69,380
ola MIlz ASE3 29,380 34,190 A4,810
101 14| 7,000 5,250 1,750
04 JIZtMZ22XSE+ 7,000 5,250 1,750
Oola HEZ 1Y 35,0008 » 208 * 102l 7,000
201 LetIH| 5,880 1,040 4,840
01 AtR22/Hl 5,040 1,040 4,000
OQIAZR AlHAIY H& MZ
100,000& * 202 200
Osxeins JlznE B
4,000& * 705 * 33/ 840
OQla MEE B2 =yl =Yl LM
400,008 * 103 4,000
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SEREYE
ASHS MAIIEDS(SEHSSN/SD - SE)
ZoloIa AES Il (er9): &g
N Z3 . CA(ZAH) - MPAY - BES Aol a4 Hlw &2
cSH I T2 ° . [= Bl e =5 0:”/|l|,% Lsa
02 2223l 840 840
ool sX2d &= 70,000& * 12&8 840
206 M=l 16,500 0
01 M=4| 16,500 0
Oola THHEXE &Xl 8,500
—WEX 2l 700& = 5,000m 3,500
—&ldl ¥ XM
2008 = 5& = 5,000m 5,000
OMNEEE MBE SX(SAH L MAXH)
2,000,000& = 4ha 8,000
Ml ASAE d7E8s XA(=) 10,000 10,000
= 5,000
Al 5,000
101 el4H| 1,000 1,000
= 500
Al 500
04 JIZtMZ22XsSE+ 1,000 1,000
OHRe8s X 40,0003 » 18 » 25¢ 1,000
= 500
Al 500
201 LBt A 600 600
= 300
Al 300
01 AtE22|Hl 600 600
OdFes BN 7 600,000& * 14 600
= 300
Al 300
202 O4Hl 1,400 1,400
= 700
Al 700
01 =LA b 1,400 1,400
OJI=8: =8es 70,0003 * 2% = 102l 1,400
= 700
Al 700
206 M=l 7,000 7,000
= 3,500
Al 3,500
01 =4l 7,000 7,000
O3 & 7l 1,000,000& * 73 7,000
= 3,500
Al 3,500
NEZSSHSMM(E) 50,000 50,000
& 15,000
Al 35,000
402 912FXHE0I M 50,000 50,000
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SN sl SHE
HH: ASHS MM (SEHYAL/SY - 5E)
el Eololy HES Il (sl &2
i _ . rSJEL== -
SN -HH - SA(B) - MRAY - BES O &F 24 Sl e HRE2
= 15,000
Al 35,000
01 BIZtGEEX 50,000 0 50,000
OBIJIZIQIATHUN DI Z Al 50,000,008 * 14! 50,000
= 15,000
Al 35,000
M= B2 28,060 65,310 A37,250
A= ASS L 28,060 30,310 A2,250
201 B3| 500 500 0
01 AtR 22/t 500 500 0
SIAIMAIY EE HE 1000008 * 5H4 500
206 M=l 2,050 1,900 150
01 M=zl 2,050 1,900 150
O SYHEST ZAE
500,0002 * 2744 1,000
OBMNET ZEAS ENHE &4 7Y
3,500& * 300ha 1,050
301 EtEN = 510 1,910 21,400
12 JIEtE 43 510 510 0
OSxei7s H2D] LASY 510
—J2= 100,000& * 1AI2+ * 33l 300
— 04l 70,000& * 1 » 33 210
402 912t 01 25,000 26,000 A1,000
01 BIZFGEEXR 25,000 26,000 A 1,000
OS20 MMSX Z4 AlY
50,000,000& * 1JH4 * 50/100 25,000
SHE2 MUY L (SYHSLN/5Y - 5E) 9,826,765 4,381,650 5,445,115
z 2,799,000
= 514,800
A 6,512,965
Sy 3 235 9,147,500 3,156,980 5,990,520
= 2,799,000
& 396,700
Al 5,951,800
SH 20t NLESANS (sEEHSE)(R) 700,000 700,000 0
= 500,000
= 60,000
Al 140,000
402 SItXHE01H 700,000 700,000 0
z 500,000
= 60,000
Al 140,000
01 BIZPGEEX 700,000 700,000 0
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SN SIlEHEH
HE: SRS MADIE XA (SYHLLLN/S5Y - 5E)
Sl EDI0I4 A Lt (el & 2
_ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
SR EEE RN
1,000,000,00020 * 141 * 70/100 700,000
3 500,000
= 60,000
Al 140,000
Ol ArA A D BHEHE 10,000 28,300 £18,300
402 BI2AT RO 10,000 12,500 A2,500
01 pIX=EE 10,000 12,500 A2,500
OREZ LTI X2
2,000,000 * 10ha * 50/100 10,000
ASHIABNSUADUAEAY (D) 660,000 0 660,000
3 330,000
= 165,000
Al 165,000
307 QI2H0IH 165,000 0 165,000
3 82,500
= 41,250
Al 41,250
02 PIABAEE 165,000 0 165,000
OASHHABNSYADY AN (ZALE)
165,000,0008 * 14! 165,000
= 82,500
= 41,250
Al 41,250
402 BT RO 495,000 0 495,000
3 247,500
= 123,750
Al 123,750
IEEIPNEEES 495,000 0 495,000
OXSHHARNSYADY AN (H2LE)
495,000,008 * 14] 495,000
=l 247,500
= 123,750
Al 123,750
NYLZSSLALY () 6,919,000 0 6,919,000
3 1,969,000
Al 4,950,000
401 Al&HIL 20| 6,919,000 0 6,919,000
=l 1,969,000
Al 4,950,000
01 Al&H] 6,262,250 0 6,262,250
OQla eI B B ALY
7,100,000,0002 * 1Al * 48.77816/100 3,463,250
3 1,969,000
Al 1,494,250
OBJIHAND BN FH (MDA (2
009 AIBIOISEE) 2,819,000,0002 * 1A 2,819,000




SN SIlEHEH
HE: SRS MADIE XA (SYHLLLN/S5Y - 5E)
Sl EDI0I4 A Lt (el & 2
_ _ pSNE e
A B3 C9(30) - MRAY - B2 Gl o B2
02 22yl 619,000 0 619,000
OQIAME B A2Ib (AB+FAI)
10,000,000,0002! * 14! * 6.19/100 619,000
03 Al&=CH| 17,750 0 17,750
OOIA M PARIALY AL R THH]
7,100,000,0008 * 141 * 0.25/100 17,750
AUHS LT (E) 858,500 0 858,500
= 171,700
Al 686,800
402 Q12X 0IF 858,500 0 858,500
= 171,700
Al 686,800
01 PIZTEEE 858,500 0 858,500
OO AR Q 4 AT &
70,000,000 * 7ha * 50/100 245,000
= 49,000
Al 196,000
OIS RIIZEI 2 XIS
2,500,0002 * 50ha * 50/100 62,500
= 2,500
Al 50,000
OQMKSHED A=
7575702 * 330 * 50/100 125,000
= 25,000
Al 100,000
ORSAWMN AL TS
3,000,000 * 10ha * 50/100 15,000
= 3,000
Al 12,000
OQMDEINHBIBAI LS
82,200,0002! * 10JH2 * 50/100 411,000
= 82,200
Al 328,800
SEE M 679,265 1,224,670 A545,405
= 118,100
Al 561, 165
ZMAIIBES(F) 76,050 93,250 A17,200
= 15,210
Al 60,840
402 AT RO 76,050 93,250 A17,200
= 15,210
Al 60,840
01 pIAXE=EE 76,050 93,250 A17,200
O ZM TSR 76,050
— OIS AILT R A
3,000,000 * tha * 50/100 1,500
= 300
Al 1,200
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SN S SME
HEl: SIS MADIE ZE(SYHYLM/5L - 5E)
Sl SEHEE MU (e
_ _ _ N E
SA-EHB . CA(ENH) - HEAY - BE2 Ofl & o Gil it o HRs2
—HRBLAL
5,600,008 * 2ha * 50/100 5,600
= 1,120
Al 4,480
—BEXAF NF
210,6458 * 310m * 50/100 32,650
= 6,530
Al 26,120
—HEEYT NS
220,0008 * 330m * 50/100 36,300
= 7,260
Al 29,040
MASHSSH(E) 295,350 794,820 499,470
= 72,890
Al 222,460
402 Q12X 0IF 295,350 794,820 499,470
= 72,890
Al 222,460
01 UATEBE 295,350 794,820 499,470
OASEH=2EXIZ 122,050
— LA A& 20 5HR A & X
20,0008 * 7,222.6m * 50/100 72,226
= 14,446
Al 57,780
—H NP AIL
1,825 * 33,779m * 50/100 30,824
= 6,164
Al 24,660
—0lS4 HED
8,000,002 * 4CH * 50/100 16,000
= 3,200
Al 12,800
— o} 2RI| &K
3,00020 * 2,000m * 50/100 3,000
= 600
Al 2,400
OASHSMAYRLX 112,400
—QIZFRNI  1,933,0002 * 3CH * 50/100 2,900
= 580
Al 2,320
—HABIRIXIE 350,008 * 400€ * 50/100 70,000
= 14,000
Al 56,000
— LI EI| 2,500,0002 * ACH * 50/100 5,000
= 1,000
Al 4,000
—H |- A =Y
9,800,0002 * 5CH * 50/100 24,500
= 4,900
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SN SYIIEHE
HE: SHEES MMM EH(SEHYLL/5Y - 5&)
el S M (el &
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 Sl ko HRs2
Al 19,600
— A THEH AL &2 %
200,000& = 100m = 50/100 10,000
& 2,000
Al 8,000
OLIES (PRTINSIITEE YYE=
29,000,000 = 341 = 70/100 60,900
= 26,000
Al 34,900
SHEMAAI S Z ™A DX A(Z) 100,000 90,000 10,000
& 30,000
Al 70,000
402 SI2H X201 100,000 90,000 10,000
T 30,000
Al 70,000
01 QIATEEE 100,000 90,000 10,000
O3l 48 A Al & 2 B T D AR
2,000,000,000& * 10JHAF = 0.5/100 100,000
& 30,000
Al 70,000
M stelatey =4 151,200 96,000 55,200
402 2I2H X =01 151,200 96,000 55,200
01 BIAXGEEXR 151,200 96,000 55,200
ORXEZ 22 2,500,008 * 120hax 30/100 90,000
OMEZSZXIE  1,200,000& * 170ha * 30/100 61,200
AL Esa= 54 56,665 54,600 2,065
301 EtB A= 2,800 2,800 0
10 ALAHIE &= 2,800 2,800 0
OS==It DROY 4
70,0002 * 20 * 23] 2,800
402 SI2H X201 53,865 51,800 2,065
01 AIAXNGEEX 53,865 51,800 2,065
O ol Z M A S IR 2 ALY 53,865
—E LI 13,300% * 3,500€ * 50/100 23,275
—dIEE 2,660Z = 23,0002 = 50/100 30,590
LIS MADIBE T (SSHSA/OH YA OE) 24,480 14,920 9,560
= 6,924
Al 17,556
L=t &3 =4 24,480 14,920 9,560
= 6,924
Al 17,556
WS EM0BHY LB () 20,000 10,000 10,000
= 6,000
Al 14,000
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SN SYIIEHE
HE: f0 MADIY TN (SN SL/HS S - 0 E)
ool A B X4

_ = FSRE =
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
206 M= dl 20,000 10,000 10,000
& 6,000
Al 14,000
01 M=Hl 20,000 10,000 10,000
OU=2 EAMNS I &=
5,000,000& * 45 20,000
S 6,000
Al 14,000
HEEIRMMHKRA(E) 3,080 3,520 A440
= 924
Al 2,156
402 2Iz2tt=E0ld 3,080 3,520 A440
= 924
Al 2,156
01 2IEXEE X 3,080 3,520 A440
OU=8 220N HS2
550,000 = 7CH = 80/100 3,080
= 924
Al 2,156
W= X2t 1,400 1,400 0
201 LEt=gH| 1,400 1,400 0
01 AtR2teld] 1,400 1,400 0
O &I HEAE H2 4,000& = 20004 800
OU ==& X3 AM 200,000 * 30K A 600
HHSAZH(ZASEIISD)(JIEHIIE) 97,541 120,078 22,537
I 2| 9,000 8,580 420
el 23| 9,000 8,580 420
101 el 24| 4,800 4,800 0
02 JIEtA 2 == 4,800 4,800 0
OBAU4o A A2 s FS
00,000& » 1€ » 123 4,800
203 ¥E =&l 4,200 3,780 420
04 BEAN2SERFAH 4,200 3,780 420
OFMSEII |z FA2Y RS
350,000& = 12& 4,200
Jl=2dH| 88,541 111,498 N22,957
Jl=&Hl 88,541 111,498 A22,957
201 B2 17,891 21,248 N3,357
01 AtR22iHl 17,891 21,248 A3,357
O=SAMEXN #8 13,0003 * 182fA + 128 2,808
OS2 04l 5,0008 = 641 ~ 18H «12& 6,480
Ooget =8 100,000& = 12& 1,200
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SN
X XH .
S Tt

el

J

02 of
<02 M
X T:

M 0x 02
0¥ M0

|

z

J

pa
Jm

34_
S
Ii}e
=J

Y (D1EH/DIEH)

(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
SNBSS - HRAY - BHES Aboy e HIRZE2
OARD TA | 50,0009 * 12 600
OARD 24| 7,710
—=Z A%z 500,0002 * 1CH 500
—Talg 42 100,0002 * 504 * 50/100 250
—=2 A E 200,0002 * 53] = 1CH 1,000
—DRIE(SHM)E  200,0002 * 53] * 5CH 5,000
—PC 22| 100,0008 * 18CH * 20/100 360
—JIEHEH| %2 50,0002 * 12 600
OJIEF A2 2H2IH] 500081 « 18 » 12" 1,080
Ol A= 2 19,878,0002 * -10/100 A~ 1,987
202 OfH| 70,650 89,950 19,300
01 =ZLHoiHI 70,650 89,950 19,300
OSMER) =D LREX 0fH|
HHOIHI 20,0008 * 122 * 18 * 12% 51,840
OSMERI IS ASEF 0H|
2:2104H| 70,0009 * 14 * 18 * 13 17,640
OZ 49 Al
ZHHOIHI 20,0008 * 42 * 12 » 128 960
OZ 49 A}
2HRI04H| 70,0008 * 3Y * 1% = 13| 210
A2 SE(SUNLLA/5Y - &) 2,481,236 1,595,930 885,306
258,000
292,830
316,899
1,613,507
SEI|IHRE 2,481,236 1,595,930 885,306
258,000
292,830
316,899
1,613,507
SA2 £E=X 335,850 322,400 13,450
101 o124 25,000 15,000 10,000
04 JIZHME2NEE S 25,000 15,000 10,000
OUHSH AFD 2250} OlZ 22 oA
50,0008 * 5% * 100 25,000
201 LAl 5,850 5,400 450
01 Al 22l 5,850 5,400 450
OSME REIZ YL 2527 S 40 Y&
60,0002 * 107 600
O%+Z=xE A HLLD
70,0008 * 53| * 15 5,250
202 OfH| 2,000 2,000 0
01 =ZLHOiHI 2,000 2,000 0
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M s€lis4dH

Nu ZN2 RS (sUHYAN/EY - 5E)
chel: SEJHRE (=T R-E
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
OO At =52t MGXNERF 0]
20,000& * 50 » 29 2,000
301 EtBA = 303,000 300,000 3,000
07 2I2te1=2l (| 3,000 0 3,000
OZ=1070F =EAIE =AM
2,000,000& = 19 = 304= * 50/100 3,000
12 JIEtE2 4= 300,000 300,000 0
OsME+E2ZNZ X
3,000,000,000& * 10/100 300,000
sHSItEed =4 1,400 2,680 A 1,280
301 et24a= 1,400 1,680 A 280
10 HALAHIZ &3 1,400 1,680 A280
OsZEIsdgdsd 2 =& AMLNE HHIEH
70,0003 * 1098 * 2& * 13 1,400
st IR EHH &EX(=) 516,000 0 516,000
= 258,000
L= 77,400
Al 180,600
402 SIt X201 516,000 0 516,000
= 258,000
= 77,400
Al 180,600
01 BIZPGEEXR 516,000 0 516,000
OUF=E =HSUNFEME LT
860,000,000& * 1JHZA = 60/100 516,000
= 258,000
L= 77,400
Al 180,600
sttg FEET(L) 373,000 0 373,000
& 114,000
Al 259,000
301 EtEA = 345,000 0 345,000
= 103,500
Al 241,500
12 JIEtEA S 345,000 0 345,000
OsttE+=E5dNsXE
3,450,000,000& = 10/100 345,000
= 103,500
Al 241,500
402 It X201 28,000 0 28,000
= 10,500
Al 17,500
01 BIZFGEEXR 28,000 0 28,000
O+ E=ABLHCA AT DAY
35,000,000& = 80/100 28,000
= 10,500
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M s€lis4dH

i Sp2 SE(SHYHYEM/SY - 55)
ool RSl (9l &2
_ _ MNuE o
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
| A 17,500
SLMAEIBALRL(R) 1,254,986 0 1,254,986
| 292,830
= 125,499
Al 836,657
402 QIR0 1,254,986 0 1,254,986
| 292,830
= 125,499
Al 836,657
01 pIAX=EE 1,254,986 0 1,254,986
OAEIIBULS LAY
4,183,286,50020 * 30/100 1,254,986
| 292,830
= 125,499
Al 836,657
EROY (SHHY LM/ 5 - 5E) 699,820 726,020 26,200
= 3,000
Al 696,820
ssag 28 699,820 726,020 26,200
= 3,000
Al 696,820
HEE2 Y 174,520 141,920 32,600
201 Yot | 62,000 62,000 0
01 At 2ty 62,000 62,000 0
OSSHE NBHA 282
50,0002 * 507 2,500
OSSH2 XA 222 HE
3002 * 10,0000 3,000
O=sae MNBEAE ZEH A
5002 * 5,00004 * 34! 7,500
O=sa2 828 I A
1,50020 * 2 * 5,000 15,000
Odel sSaSYs SRSRE (A, O,
s) 200,008 * 5% * 43l 4,000
OR+=SHE ELE 28 7
10,0008 * 40% * 53| 20,000
ODNES0E 290 2 E22E 7Y
200,008 * 25 * 103 4,000
ODIHE ST 25X YRE
600,002 * 1CH * 103 6,000
202 OiH| 4,200 4,200 0
01 =2U0ibl 4,200 4,200 0
OUTAl SSH2 NBSA B4 B2 oYl
0,0002 * 32 * 48f « 53 4,200
301 LPBAI 12,320 15,720 A3,400
10 BAIAHI B AS 12,320 15,720 A3,400
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SH: SIlEHEH
Hu: EP0HY (SRS 5 - 5E)
o9 sSaE2 B2 (Sl &2)
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
SEEEEEENETEEEY 6,120
—0f 70,0002 * 6% * 63l 2,520
—5%E 10,0002 * 3% * 63| 1,800
— A2 100,0002! * 3% * 63| 1,800
O=SH2 E2Q% I&s0 20 24
,000,0008 * 141 23] 2,000
OsSate MB#A &I} 212+ ot 24
70,0002 * 10 H * 63 4,200
307 2120l H 96,000 60,000 36,000
04 QIABALRE 96,000 60,000 36,000
OUEA FFESSHSH HA
30,000,000 * 13l 30,000
OYZw HRHYE I8 SLHA X2
30,000,008 * 1l 30,000
OR+ESHS TV ELE 28
30,000,008 * 13l 30,000
O=Sae 22#A B0 (0IS0IEH)
6,000,000 * 13l 6,000
ssug 28 491,700 526,500 34,800
201 Yereg| 466,700 501,500 34,800
01 At 22l 459,500 483,500 24,000
OBZNIE 0188 sSi2 28 444,000
~TVED 300,000,000%! * 1JHE 300,000
—XI5HE (Q0IS2et S)
1,000,000 * 124 * 24 24,000
—2I0I2FD 1,000,008 * 303 * A0 120,000
OE2H SSH2 22200 10,500
—20W SN 24 3,500,002 * 3HA 10,500
OSSH2 22HAA AA. AISE 5S84
e 500,008 * 103l 5,000
02 IZ2Y| 7,200 18,000 10,800
OsSH2 SR8 M|
200,000 * 3MHA * 1202 7,200
301 LPBAI 25,000 25,000 0
10 BAAHIE A2 25,000 25,000 0
OSSME SLOA 2012 24
5,000,008 * 53] 25,000
HeIAIZ WA 20,000 45,000 25,000
202 01t 20,000 30,000 A10,000
03 22l =20it| 20,000 30,000 10,000
OSZ, 4, =3, A S SN T
2,000,00020 * 2% 53] 20,000
M AHY 22 3,600 3,600 0
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SA: Sl HE
Hal: 2RI (SPHLLL/5Y - &)
o9 sSaE2 B2 (B9 &2
_ _ HE T
SA BB H(BH) - MBAY - B2 Ofl & o il i~ o HRs2
201 Yereg| 3,600 3,600 0
01 AtR2r2/Hl 3,600 3,600 0
OReAATES YFTL 2|
300,0002 * 120 3,600
MEFEASEIIKR () 10,000 9,000 1,000
= 3,000
Al 7,000
301 YR A 10,000 9,000 1,000
= 3,000
Al 7,000
10 BAHAHIE A2 10,000 9,000 1,000
OAMEHAIE &I & 2,000,0008 * 53] 10,000
= 3,000
Al 7,000
SUE WL (SPHLLL/SY - &) 655,700 484,700 171,000
=2 50,000
= 22,800
Al 582,900
SSA2 BC Y 655,700 484,700 171,000
=2 50,000
= 22,800
Al 582,900
D4 SSEMNS BUC AEHE 299,200 267,200 32,000
201 Ygreg| 299,200 267,200 32,000
01 ALR2relH] 299,200 267,200 32,000
ORWIE0ID ASAZ (AT, Q&)
25,000,008 * 2E= 50,000
OUEA 'HylsZ' 2SS 28
6,000,002 * 3744 * 122 216,000
ONEE¥ 2 S=H
SHAE + 105 + 1,000,0008! 5,000
OMHIEZ Aol9is| Mojsd
70,0008 * 11 23] 1,540
Odbl&Z BRBD MosY
70,0008 * 19% * 23| 2,660
OHHIEZ 228 ABHE
2,0008 * 2% * 1,00004 4,000
OHHlEZ ZEMW CIRLIHLH
10,000,008 * 2E= 20,000
TR A AR 230,500 217,500 13,000
402 Q12X 01 F 230,500 217,500 13,000
01 DIZHAEEE 230,500 217,500 13,000
OMHISZ ASNHES TRWAE N
3,000 * 822 * 6,50004 * 50/100 78,000
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SH: sUIISHE
M OUC L (SEHYSL/ =Y - 5E)
Ol SSA2 S HY SRR
_ _ SIEN
N Z3 . CA(ZAH) - MPAY - BES e Ol Ak O Z
OSE=Uc AIRX Z&M M K&
1,0002 * 6Z= * 20,0004 * 50/100 60,000
OZJIQMEE HE X 30,000
—aE 2002 * 300,0000 * 50/100 30,000
OL+sSMe TR A XL
1,002 * 10Z= * 10,00000 * 50/100 50,000
OY=20 T HME X
5002 * 5% * 10,0000 * 50/100 2,500
SA=MSIHNA () 36,000 36,000
= 10,800
Al 25,200
402 Q12X 0|H 36,000 36,000
= 10,800
Al 25,200
01 QIARERE 36,000 36,000
OYSLE=AS MEAST X
72,000,0002 * 50/100 36,000
= 10,800
Al 25,200
AAHH EHEHR),(F) 90,000 90,000
2 50,000
= 12,000
Al 28,000
307 212+0| & 90,000 90,000
2 50,000
= 2,000
Al 28,000
02 QIHHARE 90,000 90,000
O=SQUAAH SUC Xx3 T2y
100,000,00020 * 141 * 90/100 90,000
2 50,000
= 12,000
Al 28,000
YHRE(SHY LM/ 52 - 5&) 302,000 144,147
2 2,000
Al 300,000
=) 302,000 144,147
2 2,000
Al 300,000
T EIPE 300,000 144,600
301 YBrEAS 165,000 59,000
12 JIEtE A 165,000 59,000
O4rEH AZH X
30,0002 * 8,000 * 50/100 120,000
OeHBiHl XI@ 5,002 * 18,0002t * 50/100 45,000
402 Q12X 0l F 135,000 85,600
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2A: sglI=48H
N3 YERS(SUHIAL/5Y - =)
ool grmae LR
SO (B H) - HEAY - B2 Al OH HdE T H D=2
= M * - = S = 0:”/&,% U=sa
01 I2tE8=x 135,000 49,400 85,600
Ot & L& M2 XS
1,000& * 15,0000 = 50/100 7,500
OHZAZH E8d X
15,000& * 1,0000 = 50/100 7,500
O&tlsZd 2280 MAAIE AR
240,000,000& » S2 AEI[214 = 50/100 120,000
=2 XN (2) 2,000 2,453 A453
= 2,000
202 (4l 2,000 2,453 N453
= 2,000
01 2| 2,000 2,453 N453
o222 XK
20,000& = 3¥ = 33.3333 2,000
= 2,000
IERE(sHll LM/ 5 - &) 725,528 712,050 13,478
| 15,000
== 69,975
Al 640,553
2852 dE L35 725,528 712,050 13,478
Jl 15,000
= 69,975
Al 640,553
W=D XA 475,628 522,030 AN46,402
201 Et24| 9,220 8,720 500
01 At Zelbl 7,220 6,720 500
Oget=2H| 4,000
—Hygs =9 M 250,000& * 45 1,000
—dFANN EE EEES HZE 3,000
AEIA 50& = 10,00000 * 2 1,000
cl=za 100& = 10,00000 * 2& 2,000
OgFAtY US| IAs8s =
70,000& * 239 * 23] 3,220
02 =294l 2,000 2,000 0
Os32=2 % MHA 2,000
— AP AR] AN E 24825 22
2,000,000& = 13 2,000
202 4| 2,100 2,100 0
01 =2 2,100 2,100 0
OL=ETHA 2R =AY
70,0003 * 29 x 32 x 53] 2,100
307 Qlz2to| A 381,808 491,000 A 109,192
02 QI2tZAB X 226,808 246,000 N 19,192
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2A: sgI=HH
M3 BARS(SRHLLL/5Y - &)
el BAREAM 23 GO
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
OZSAMY EEHA(REZ2)XA
20,000,000& * 13] 20,000
ool +BAT N (YSEeE0) 33,000
~SEME dEH (Y
1,2002 = 30,0004 X+ * 50/100 18,000
234 X2
1,000& * 30,0004 X+ = 50/100 15,000
ORSHdH 3 AN sJF €8 K&
1,200& * 426,000& X+ * 34/100 173,808
04 CIZFHALE X 155,000 245,000 A 90,000
OZ=AY E2HA XA 125,000
—= A 30,000,000& * 43| 120,000
—MIUAEE AAMHAH(EZHM, Q&FH S)
2,500,000& * 23| 5,000
OJIEte S A X2 10,000,000& * 33l 30,000
402 212t XH=01 A 52,500 18,750 33,750
01 QU222 X 52,500 18,750 33,750
OAMI=EsIHHM)EIAIEE X2
1,050,000& * 100ha * 50/100 52,500
405 Kot S| 30,000 1,000 29,000
01 &L 2BEFHSHI 30,000 1,000 29,000
OstE8ssSdH A8dE)| 2
30,000,000& * 14 30,000
FEsH=UIIIEHE(S) 234,900 190,020 44,880
& 69,975
Al 164,925
402 It X =01 M 234,900 190,020 44,880
& 69,975
Al 164,925
01 It GEEZ 234,900 190,020 44,880
Ot sitEEZ Y M OAMY
225,000,000& * 60/100 135,000
& 45,000
Al 90,000
Ol sS4+ Z MR DA (CIL 2l At
EZTAY) 166,500,000& * 60/100 99,900
& 24,975
Al 74,925
HEAPCZ (=) 15,000 0 15,000
J| 15,000
307 QI2t01A 15,000 0 15,000
| 15,000
02 QI2ZtBAE X 15,000 0 15,000
OHEAPCAIS HI B =8 & 22l X3
15,000,000& * 124 15,000
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S =S ME
Hu: DARS (SNBSS - S5E)
ool DAQEIM 23 CrRLE
SA BB E(B) - HEANY - BES 0f &t SR DS
[ 5] 15,000
HH A (RE0HHL D) (OIEHIIEH 63,047 62,747 300
olz 2 gy 3,000 2,700 300
olzi2 oy 3,000 2,700 300
203 YR EWY| 3,000 2,700 300
04 2SI =AY 3,000 2,700 300
OSE0HY D 3,000
T =EF I 250,008 * 122 3,000
=2 60,047 60,047 0
1= 2| 60,047 60,047 0
201 Y2 Y| 13,727 13,727 0
01 Atz eIt 13,727 13,727 0
O=AEX TUHl 13,0008 + 122 A « 129 1,872
OSZOHAIE 50008 * 64 % 128 + 128 4,320
OYptasg 10,0008 * 122 1,200
OARR TAHPY U NSEX BES
50,0008 + 122 600
OARS 44| 6,540
—= Al 22 500,0008 * 1CH 500
—TRIg 22l 100,000% * 4CH * 50/100 200
—= A £ 200,0002! * 53l * 1CH 1,000
—DRIE EU(SW Y 22}
200,0008 * 53 * 4CH 4,000
—pe2l 10,0002 * 12CH * 20/100 240
LTS 50,0008 + 122 600
OJIEH AR S| 5,008 * 128 + 122 720
ool E 2 15,252,0002! * ~10/100 A1,525
202 01t 46,320 46,320 0
01 =Uolbl 46,320 46,320 0
ORSOAYD ARET oft] 46,320
—BHLAGIEI 20,0009 * 122 * 12 « 12 34,560
—2Hel0fH| 70,0008 * 142 * 129 11,760
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